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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer any

fifty (50) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(@) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Time Allowed : 75 Minutes]

(2)

DEC - 00013/I—C
Paper I
PEERIECN |
[Maximum Marks : 100
This Paper contains Sixty (60) multiple choice questions, each question

~

I GEURd W@ (60) dgfae Ued fooiel STA Y&ie TRl &M (2) U
e
FHUE T (50) T SW T

Note : (1)
carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
gt ¢ (1)

The effectiveness of communication | 1. | FROMTHBRGA HSHTLROIOI
is usually decided on the basis of : FHIT TR g Sy ?

(A) quality of feedback (A) SfEEmEr <=t

(B) sender’s intention and criteria (B) TuM %?L B

(C) economic use of medium (C) WreEEE AT AR

(D) simplicity of message D) TewreT g

Whicl;l of the following is an incorrect 9. W RN G ¥ W —
pair °

(A) Television : TRP &) W P SR

(B) Newspaper : RAM (B) ?ﬂtﬁr : le

(C) Website : Hits (C) daHRe : Tegq

(D) Film : Box office D) T : st A

In which of the following types of 3. R Eﬁu'f"\' ) SEIREEEAND
communication is feedback compara- TGRS,/ eI T T, HHet S
tively slow, weak and indirect ? U g A ?

(A) Inter-personal communication (A) TH KA e

(B) Group communication (B) e GO

(C) Mass communication (C) S HATH

(D) Non-verbal communication (D) :3reg |

[P.T.O.



Choose the correct match(es) :
(z) Psychological barriers—Symbol

(1) Cultural barriers—Selective
listening

(zii) Technological barriers—Voice
disruption

(A) (@), @) and (it7)

(B) (@) and (i)

(C) GiD)

(D) @) and (it7)

When a teacher uses a video clip
or sound clip or PowerPoint
presentation in classroom teaching,

the communication can be best
described as :

(A) Mass communication
(B) Technological communication
(C) Visual communication
(D) Mediated group communication

Communication is classified into
“intra-personal”, “inter-personal”,
“group” and “mass” communication
on the basis of :

(A) medium used for communi-
cation

(B) form of message exchanged
between participants

(C) number of participants in
communication

(D) social context of communication

DEC - 00013/I—C
et I Siel/siesn faer

() WS TSIB—Tdih

({i) TEpfas ASTdl—fTasd sau

(iii) IR STEIR—ITESIdIA TS
(A) (i), (i7) 3T (i44)

(B) (@) 37U (ih)

(C) (D)

(D) (1) 3o (idd)

Siegl e SiHed geR-HTed, S
foran Rt Aedieniul aT9ard deal &
IO qaifas g9t 9uiF  geEreden]

b o
hHIM hIdl Agd 2

(A) SEFTIH

(B) TIIMIcHS: HAT9H
(C) T A9
(D) WeAHEG eI

‘", “guag’, “TeEmrga’ efur
“SHERTIE” ® EITOA Y ShivTed
fRIeR Sdaiel 3Ted ?

(A) HITTAMEST Al HIEH

(B) TeYMl S\ Hevme W&y

(C) FIATTAME TN Hoiedl e
T

(D) AT ISR Hey




Fill in the blank by an appropriate

number in the following series :
5, 35, 7, 42, 6, ............ , 9, 36, 4.
(A) 45
(B) 48
(C) 54
(D) 56

Which of the following numbers is

different from the others ?
(A) 3156
(B) 4164
(C) 5255
(D) 6366

Find an appropriate letter
combination in place of the question

mark (?) :

KP MN OL QJ SH ?
(A) UF

(B) UG

(C) TF

D) VG

DEC - 00013/I—C

o~

qéidl shiHehd R Sl A4rg wEA

faer

5,35, 7,42, 6, ............ , 9, 36, 4.
(A) 45
(B) 48
(C) 54

(D) 56

Ieie HEATIH! SaRAa el Tl
HIUT SR ?

(A) 3156

(B) 4164

(C) 5255

(D) 6366

o o

eIl ShiHehd JS==r=Al ( ?) S 4

qafg foctedn saREgerA e .
KP MN OL QJ SH ?

(A) UF

B) UG

(C) TF

D) VG

[P.T.O.



10.

11.

12.

In a certain code language using
code symbols for mathematical
operations, 18 + 3 = 6; 9 — 2 = 18;
11 x 11 = 22 and 18 + 3 = 15.
Evaluate the following operation in
this code language :

8 x4-12+3 +2=7

(A) 7

(B) 12

(C) 14

(D) 22

X, Y and Z are non-zero numbers.
If X =2Y and Y # Z, then which
of the following statements can be
valid ?

A X=Y+7Z
B X-Y=7%Z
C) X< Z

(D) All the above statements can be
valid

Which of the following numbers is
different from the others ?

49, 81, 100, 144
(A) 49
(B) 81
(C) 100
(D) 144

10.

11.

12.

DEC - 00013/I—C
TohT Wiehiceh TS TN fshardal aTest
Hehdidrg aTRA. IER 18 + 3 = 6;
9 — 2 =18; 11 x 11 = 22 37w
18 + 3 = 15. I WN{ER YEid ford=
TIHIT 4
8x4-12+3+2=7?

(A) 7
(B) 12
(C) 14
(D) 22

X,Y 9 Z a1 G YA Nedl SR
SRX = 2Y S0Y # Z 318, T Yeietish!
Hiora/dt faum/A e/ 19 b/
NCIC I

A X=Y+7Z
B X-Y=2%7
C) X< Z

(D) s wd faum @l 31g wehdia

qEIadeh! IV F&AT TAae e
e ?

49, 81, 100, 144

(A) 49
(B) 81
(C) 100
(D) 144




13.

14.

15.

Suresh and Vidya are cousins.
Madhuri is the sister of Vidya.
Ganesh is the father of Suresh. How
is Madhuri related to Ganesh ?

(A) Daughter
(B) Niece
(C) Cousin
(D) Uncle

In a code language, the word BAD
is written as 658. In the same
language, what could be the code for
FIG ?

(A) 9 12 10
(B) 10 13 11
(C) 8 11 13
(D) 10 12 13

Which of the following pairs is

different from others ?
(A) Brother—Sister
(B) Tall—Short

(C) Black—White

(D) Old—Young

13.

14.

15.

DEC - 00013/I—C
et anfuy foen &€ goawee  aea.

myd & four=h =@o e, o ¥
qu JEid ARd. W Y Tl
%@ A SR ?

(A) &=
(B) qavft
(C) erdsitgu

(D) Ferd

Tehl Hiehfdeh 9™d BAD & I 658
31 fafead. = v9™a FIG A1 YsSm=

Arehdlsh 1A ™A ?
(A) 9 12 10
(B) 10 13 11
(C) 8 11 13
(D) 10 12 13

RIS IV Teqsiie! SaRdel e
3Med d |

(A) &H—dfEu

(B) SA—FaT
(C) HTea—UTel

(D) gs—7eu

[P.T.O.



16.

17.

18.

Find the
following :

(A) DFEG
(B) JLKM
(C) GHIK
(D) RTSU

There are three statements I, II
and III. Based on these statements,
which of the conclusions is
correct ?

odd-one from the

Statements :

I. Mahesh is taller than Arun.

II. Ganesh is shorter than Arun.
III. Seema is taller than Ganesh.
Conclusions :

(A) Arun is the tallest of all.

(B) Ganesh is shorter than Seema.
(C) Seema is taller than Mahesh.
(D) Mahesh is taller than Seema.

Assuming that the following
statements I and II are true, which
of the following conclusions could be
true ?

Statements :

I. All teachers are managers.
II. Some teachers are females.
Conclusions :

1. Some teachers are managers.
2. No manager is a female.

(A)
(B)
©)
(D)

Only conclusion 1 follows.
Only conclusion 2 follows.
Both conclusions 1 and 2 follow.

Both conclusion 1
conclusion 2 not follow.

and

16.

17.

18.
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qEicTdeh] ShHIUIAT T SaTUel avTel 3T
d fomr .

(A) DFEG

(B) JLKM

(C) GHIK

(D) RTSU

3¢ L II & I 3wt faum foeft swea.

IR 3THIRA YeieTdeh! v FTeehe sRieR

aed o for.

faem .

I He9 @ STeuhel S9 oI

II. 0% STEUNe 39 HH R

I11. S ToRhe 39 TR

freme

(A) 3T&U T Fald 39 3.

(B) ORI B AU S HH TR

(C) d1 & weman 39 .

(D) HeW T e 39 .

gt foaer 14 1 99 eed 3/ e

TR, JEIeTdeh! I sy aeR 3Ted

T I

faem .

. Td fefd HAaeus 3Ted.

II. % fgs fomn smea

freme

1. wEl s FEwms TR

2. Uhel FAUH S TR

(A) T Tt 1 seR oM.

(B) He fTshdl 2 SR M.

(C) fepdl 1 9 2 T=T SRER 7.

(D) feerd 1 amfor freenddt 2 St SRR
rEId.




19.

20.

Read the following table and
answer the questions 19 and 20 :

Details of Percentage
Expenditure

Expenses on food 30
House rent 25
Education 12
Clothing 18
Sundry 15

A family earning Rs. 35,000 per
month went on a holiday for two
weeks. How much could they have
saved on food if they had stayed with
relatives during the holidays ?

(A) Rs. 1,750
(B) Rs. 5,250
(C) Rs. 1,050
(D) Rs. 1,030

A newly married couple earns
Rs. 35,000 per month. If they spend
as per the table, how much can

they save in two years ?
(A) Rs. 20,000

(B) Rs. 1,00,000

(C) Rs. 1,00,800

(D) Nil

19.

20.

DEC - 00013/I—C

ST e e[ U9 o, 19 920 =
E'H'Q‘FFT%T:

TEtar quyitet TFhART
ek 30
TS 25
fereqor 12
EXRES 18
TR (fertehies) 15

wiTh 3T 35,000 %. THIR Th FHed
S ST FeIak t. Fer= e
SR T A9 ATqaTEhihe areesd el
A, T A WuAuereA @eid fadl
d9d et AT ?

(A) 1,750

%
(B) 5,250 %.
(C) 1,050 *
(D) 1,030 %.

Ueh] Aafdalfed Srgca |G 3cd—
35,000 . Taeh 8. SR A e
TRIS YO T shell, I S Iuid

d fordl o=@ % Ihdia ?

(A) 20,000 .
(B) 1,00,000 %.
(C) 1,00,800 %.
(D) TRl e

[P.T.O.



Attempt questions 21 and 22
using the data given in the

following table :

The following table shows the
number of breakdown calls received
by six different breakdown service
centres of a bus operator in a city

for a period of six months April-

September.
Service April May June July August September
Centre
U 67 79 48 170 78 88
\Y 68 75 87 62 84 74
W 71 55 58 78 59 69
X 8 64 56 52 63 52
Y 61 58 65 66 65 75
Z 7 49 76 72 56 42
21. The service centre that received the

minimum number of calls during the

six months is :
AV
(B) X
©C) Z
D) U

DEC - 00013/1—C

Uil AFATHEN Wifediaer U9 o,
21 3mfur 22 wiEar :

Teh! IR 99 SRR qlfAeh

foeres Aan g9 Te @ TSR AT TE
Aigame] Acledl Heen=l & Jerd
Taey foeft o1,

RS IR I G G I I
Hex
U 67 79 48 70 78 88
\Y 68 75 87 62 84 74
w 71 55 58 78 59 69
X 8 64 56 52 63 52
Y 61 58 65 66 65 75
Z 7 49 76 72 56 42
21. 98 #fg=Ard THU HIIME HEA

HHl 3.

Hfdd He@e Haid

AV
(B) X
©C) Z

D) U

10



22.

23.

24.

The difference between the

maximum number and the

minimum number of monthly calls

is the largest for service centre :
AV
B) U
C) Z
D) X

Quantitative data are best compared

in the form of a :
(A) table

(B) histogram
(C) dot plot

(D) pie chart

The proportions of related items are

best shown by a :
(A) line graph
(B) pie chart

(C) dot plot

(D) histogram

22.

23.

24.

DEC - 00013/I—C
Hifaer Hevm=t A T& aTfur feam

qfeg Fe@e aa S ST
(A V
(B) U
C) Z

D) X

gfeAToTeHS  Hifgdi=l FaiwH  qadl

.............................. TR B
(A) whIsZeh

(B) emFafes

(C) forg emerE

(D) TR ekl
.................................. S S —

11

[P.T.O.



25.

26.

Identify the pair that appears in the
reverse chronological order of

development :

(A) Mainframe and Desktop
(B) Desktop and Laptop

(C) Tablet and Laptop

(D) Laptop and Tablet

Arrange the following units of
computer memory in descending

order of magnitude :

byte, gigabyte, bit, megabyte,

terrabyte

(A) terrabyte, gigabyte, megabyte,
byte, bit

(B) gigabyte, terrabyte, megabyte,
bit, byte

(C) gigabyte, megabyte, terrabyte,
byte, bit

(D) terrabyte, megabyte, gigabyte,

bit, byte

25.

26.

DEC - 00013/1—C

I3l Siedidsl SIarmare favg

AT el @

(A) UT%H 9 Sl
(B) €%=hefd 9 ©9eq
(C) 3Isie 9 o9erg

(D) <f9eig 9 Tl

qe fooiell SIORr=A1 WA= Theh

SALCT shHITHIR el

arge, firmerge, foe, AmemEe, qemEe

(A) qamse, firmerEe, ense, wse,

fore

(B) frmenge, qemEe, dmerse, foe,

ELS

(C) frmerde, wemse, emse, wse,

fore

merse, firmense, fae,

(D) 2q&mEe,

ELS

12



27.

28.

29.

Identify the matching pairs :
@)
(z1) MP3 — Audio/Video

JPEG — Photo/Picture

(ii1) XLS — PowerPoint Presentation
(tv) AVI — Statistical Information
(A) (@) and (i)

(B) (ii) and (iii)

(C) (i) and (iv)

(D) @) and (v)

In the context of Internet, UGC

stands for :
(A) University Grants Commission

(B) Universal Graphic Communi-

cation
(C) User Group Configuration
(D) User Generated Content

Which of the following softwares
is used for processing photos or

pictures ?

(A) Photocrop
(B) Photoshop
(C) Visucrop

(D) Picture Perfect

27.

28.

29.

DEC - 00013/I—C
Wrett dr e sieEr
JPEG — T=m/smt=s

(i) MP3 — a1/goh-9Tea

(i) XLS — dieRdiée AR

(iv) AVI — Hifersht et

(A) () 7o (if)

@)

(B) (i) o (iid)

(C) (i) =fu (jv)

(D) (@) 2 (o)

e Heuia g St T 3 fasarey
S A ?

(A) FFeefdel ey wiwwm

(B) Ifeda Witheh HRIAheH

(C) ISR YU HIFHRTH

(D) IR SRS Hee

wrel foren fosiear gfsran soamErd]
JEieTeh] IV FHedeR aTRel S ?
(A) W®IEIhHIY

(B) eI

(C) fogsgshta

(D) iR Whae

13

[P.T.O.



30.

31.

32.

In the context of Internet, identify

the incorrect pair from the

following :

(A) .gov — government website
(B) .com — commercial website
(C) .ac — accounting website
(D) .edu — educational website

Which one of the following regions
of India is known as “biodiversity

hot-spot” ?

(A) Eastern Ghats
(B) Thar desert
(C) Deccan plateau
(D) Western Ghats

The air pollutant known as

“secondary” in nature is :
(A) Sulphur dioxide

(B) Ammonia

(C) Peroxyacetyl nitrate

(D) Methane

30.

31.

32.

DEC - 00013/I—C
ST HeHd, JEcTush! geidl Sie]
e :

(A) .gov — THN Hehatdsd

(B) .com — SAURI Hehd¥es

(C) .ac — Tevlee Hhasas

(D) .edu — eI Tehdtds

qIATdd qErad Rt HITEAT YR I

Steafaear=a g “sfaHeerar =

HAepEen e e ?
(A) & =
(B) oR= dede
(C) T 3N
(D) ufv=w =met

EfaeRaul ‘g A SUSYh
ol ?

(A) HERL SRS
(B) eI

(C) WiFmsrifea M@
(D) |

14
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33. In hilly areas, landslides occur due | 33 <E{mres Ye9mq JEEE B S
to BN
(A) deforestation (A) TR
(B) aforestation B) o
(C) winds
(C) =
(D) grazing
(D) =R
34. Fly ash is produced in a factory . . L
34. hRETHAlT <h[OcAT hATUTshAd
during :
TR Bd ?
(A) manufacturing chemical
- (A) T EarEr A
fertilizers
B) SieAsed Y[GIhI
(B) refining of bauxite (B) x de
(C) smelting steel © = 3§
(D) production of thermal power (D) Hfeorss =it fAfeich
35. Kyoto protocol aims at : 35. FIC AT SR IO ?
(A) containing emissions of green- (A) gedt TRE IR 1 FHH FHTA
house gases gad Hreu
(B) stabilizing ozone cover (B) siA Bdw feeriator 0
(C) reducing water pollution (C) STTggH AT HL0]
(D) arresting desertification (D) STeaIahTul e
15 [P.T.O.



36.

37.

38.

A major cause of water-borne

diseases in India is :
(A) hardness of water
(B) scarcity of water
(C) pollution of water
(D) saline water

Which of the following is a degree-

awarding body ?

(A) Council of Scientific and

Industrial Research

(B) University Grants Commission

(C) Gokhale Institute of Politics

and Economics

(D) Indian Council of Historical

Research

In the Constitution of India, the
power to legislate on education is a

part of :

(A) Union list

(B) State list

(C) Concurrent list

(D) Seventh schedule

36.

37.

38.

DEC - 00013/1—C

IRA 9UAMes So=al 3R T @
HRO BN :

(A) droFr=En shfsurqon
(B) uroare gfey
(C) wgftra aroft

(D) =R roft

qErad®! HIvTdr HET Ygeal g
A ?

(A) d9Tfae qem HEnfie sT{EYN
EIE

(B) favafaamed sTH 3R

(C) e TN o 379 g

(D) WRdr sfag/ sTgEy afug

O UsFEead fyrero g fasy

16
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39. Full form of B.C.U.D. is : 39. SHIS. I T T HUA ?
(A) Bureau of College and (A) & AE s ste gfreafdfel
University Development et
(B) Board of Councillors for . .
(B) dI€ 3% sifaad i JHafder
University Development )
SRATHS
(C) Board of College and University
(C) o€ 3k Hicksl fe Jfesfdd
Directors
SRR
(D) Board of College and University
Development D) S & Fers sfe Afreefaed
40. In state universities of Maharashtra,
a Board of Studies is formed by : | 40. TRRMa Tsa faemdien AwaHes
(A) elected heads Of departments ............................ a.la. W.
only (A) wa Traffaa faummge
(B) elected heads of departments B) Fratf f & frR
and nominated experts
G
(C) elected heads of departments
(C) fraffaa faurmaga anfor weffem
and nominated teachers
INEED
(D) elected heads of departments,
co-opted teachers and co-opted (D) fraifem foummrge, whga faem
experts S -{‘_’ﬁ% =
17 [P.T.O.



41.

42.

Long form of AICTE is :

(A) All India Council for Technical

Education

(B) All India Commission for

Technology Education

(C) All India Committee for

Teachers’ Education

(D) All India Congress for Trainee

Education

Which of the following is an
extension activity of a state

university ?

(A) Continuing and Distance

Education

(B) Bridge Courses

(C) Remedial Teaching

(D) Earn and Learn Scheme

41.

42.

DEC - 00013/I—C

THEH AL 9 g ®9 %@ AR ?

(A) sta sfean wifwa wR frewa
T

(B) el gfean sfaem wit etetrst
T

[ aY

(C) 3 sfean swiHd

TR ITH ThHH

(D) 3itd Efea ST &R S TIHIA

JEIcTUeh! ShIOTdT SUSHH &1 T fomdiare

foar-smEt=r v o ?

(A) fRE afor X frem

(B) SlIg 31%I9shH Jadu]

(C) 3ITAIHS 3THYA

(D) wHar oMt ¥Rt ArsEn
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43.

44.

Openbook tests are recommended

mainly because :

(A) they reduce malpractice in

examinations

(B) students need not spend time in

studying for examination

(C) they reduce emphasis on rote

memory

(D) students are relaxed at the time

of examination

What is the best use of internet in

teaching ?

(A) For presenting content through

audio-visual media

(B) For providing latest information

(C) For saving time and energy of

a teacher

(D) For making learning inter-

active

43.

44.
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o o

s e I o

o= | L ]

RMFRYE F0I= gH@ HRU RS

(A) TS Rmee ReFeer &l
Brard

(B) faenmeain wiig=n TARARE 9@

HTeTaTal AT T8l

(C) A=A AlfAh T X HH

ol

(D) Tg=a d foenedt fff=a 19ama

SEITIATT TALSTATET Faliad ST

RO ?

(A) TH-ATeH HIEIHTA AR HII

HOITES

(B) Fyf-ieh Hifedl GRfavaram

(C) Toerhr=n 98 @ 99 SrAfaoIrEet

(D) ST A hAHS HITIHIC]
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45.

46.

The most recently accepted
paradigm of learning is that a

learner is a :

(A) constructor of knowledge

(B) receiver of knowledge

(C) consumer of knowledge

(D) collector of knowledge

The main purpose of including

practical work in curriculum is :

(A)

reducing over-emphasis on

theory

(B) developing various skills in

students

(C) helping students score better in

examination

(D) keeping students engaged

throughout the year

45.

46.
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~ a N A

AT gard ifeehe WihReTel

foaRaT WU 3TeqITehdl &

(A) I =i oTe

(B) I Tk 3T®

(C) I SUMiET 3T’

(D) IETN Hheddh AR

JATHHATT YTcHATeTR h1d AT I

HAE TIE B WIS

(A) Fgifaw armedia sAfafe X FwH
I

(B) fomneafen fafay wierer=n fawm
I

(C) forameatan wdiaa sAfreh 71 fyeservama
Hd HT

(D) formezia asR YaeA a0l
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47.

48.

The best way to understand content

is to :
(A) read the content repeatedly

(B) read the content aloud and then

silently

(®)

write down the content from

memory

(D) prepare an appropriate

summary of the content

Which of the following is not an

example of intrinsic motivation ?

(A) Vishalis interested in Chemistry

(B) Suneeta is curious to know

about innovations in her

subject

(C) Ravi completes projects to
become eligible to appear for

examination

(D) Tripta opts for communication
as she wants to enter into

marketing business

47.

48.

DEC - 00013/I—C

AR 3Teher=l Halad HFl =UN
(A) ARE YAl =
(B) R Fehe d Ha® UM areH

(C) TRuTqH e forgd kel

(D) SARETET JAERT FUY dIR hIo)

GTATcAdeh! hivd ST 3Tdeh JT0=

AT ?

(A) Taemeren @EARTEE  ATTEE
3T
(B) Ytaren fa=an fasardia e

STUA BT SR AR

(C) TS SEvIE 9T =9 Arda! Wt
Yhed quf Il

(D) fosri=a1 =HeEEd a9 HLoIr=!

So01 STHCANes ol U9 fasam=h
frere xd
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49.

50.

51.

Sampling in qualitative research is

similar to .....coceevevieenieieennnn sampling

in quantitative research.
(A) simple random

(B) systematic

(C) quota

(D) purposive

Close ended questions are those

that :

(A) relate to basic demographic

characteristics

(B) encourage elaborate response

(C) allows respondents not to

answer

(D) have a fixed range of possible

answers

Cross-cultural studies are an

example of :

(A) case study

(B) comparative study
(C) experimental study

(D) cross-sectional study

49.

50.

51.
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TUcHeh | eAa Jqa1 frae &
EATcHsh  Fe A T et
........................ -qT Wﬁ

(A) @t agfess T o
(B) g T91 fae
(C) fAfdserst g fae

(D) s g I

s W9 ® :

(A) 39 ARICARMET Toremieft

Hefod 3T

(B) <" gfdareren UicdeT <dm

(C) 3R IUTHT IRl AThRA

(D) T ST fafyrse =it eTgumR
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52. What is a research design ? 52. EIIYH INEEl WUS 2
(A) A way of conducting research (A) dgifas nur Tgae gened
that is not grounded in theory -
(B) The choice between using ) .
o o (B) TUMcHS 9 HE&AHS qgdideh! Taht
qualitative and quantitative
methods
(C) The study in which you present (C) M HfeTdTe HGIHTT FHITATH
research findings qsd
(D) A framework for every stage of (D) Hehot o TIATO1 TS TR Sheded!
collection and analysis of data e fedt
5% T hypothesis is a — — & faf
proposal based on specific
: Freone sTenfid A 3T d
observations.
(A) Directional (4) femesien
(B) Null (B) TR
(C) Deductive (C) STTHAMIHS
(D) Inductive (D) FedTch
54. Which one of the following is the 54, o HENEATEN Tl AR gew
most important component of : )
normative research ?
(A) survey (A) e
(B) participatory observation (B) wewrmers frtem
(C) deductive method (C) T Tgd
(D) field work D) & w5
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Answer question Nos. 55 to 60
based on either the English

passage or the Marathi passage :

In the lack of good knowledge of
grammar, it is impossible for one
to write correctly and effectively. It
must be borne in mind that all
well-informed and knowledgeable
persons judge a man’s mind by his
writing or speaking. Indeed, to
acquire the knowledge of grammar
is not an easy task. The grammar
is not like arithmetic — a science
consisting of several distinct
departments, some of which may
be dispensed with; it is a whole
and the whole must be learnt, or
no part is learnt. Its learning

demands much reflection and

DEC - 00013/I—C
I . 55 T 60 § U Taerear sar=amer
IATATER A Yo I e

STEHATHT AN Sheles AT STHATHHIE!

B TGd. ST ShiIvCATEl sheATadr=n
STVETE el AT § Aifecd 37
A0 99 TR Wifecd 19d. < Al

yfag oo v Afaadfesd o 939

15 3 9. "l TS faerfad qromy

HHTS 3R, T faanTar=a Ideh 31e%9

<Td URUMT=AT HIUHTAT HHTS S0

Higaers, i o7ftr sfaerarene s
T g fooiell oT9d. Tahrd SHTSIdr

fi-fi= == sfare T 9@

o N

THd. HRU SGiieh Hiedd 39 Wa:=

sifsta 7o omfor Sitergsel  fHdeear

ThaY Afequcaren fafay R 9w

gidrd. B ferfarerdr= aroft S | Arditet
A (M 3. TS hIVART SR
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much patience, but when one task
is performed it is performed for life,
and in everyday of that life it will
be found to be, in a greater or less
degree, a source of pleasure or
profit, or both together. The
learning of grammar needs no
bodily exertion; it exposes the
student to no cold, no hunger, no
suffering of any sort. What more,
the study does not affect the hours
of business, nor the hours of
necessary exercise, but the hours
usually spent on the tea and coffee
shops and in the mere gossip which
accompanies them. The wasted
hours of only one year, employed
in the study of English grammar,

would make you a correct speaker

DEC - 00013/I—C

SISl Shlcdld STIATAT AT AT

FAEACI SaAgteiqd Ta  3Tvd

AT el T o T 3T9d. el

MUV YT=AA, A, fai=d 3™

wlorEed, fhar i=me, defa s @
oA, U, IR T8 UEma fohan

SIS, GaaN 37T aFTid fa9Td 279l

1 fgumToita s1e, 99T, o 3. 9% 3Tl

T ehe difecd WUH U 9

SoIdl Id THdrd. A FEHreT hioeATer

A=A ST ehett adf fa=n e

STEHA SO hell U= ST NIl

dferd STeHa B Hord: shell 318 3T
et TehTeTsnelid el 379 ¥ehd e

ST Shelell STIREAAE ¥ sy

ST YA hedl 1 Thedl Tt aree

aqfor < e SN Y fmfur et

-~

T AT GauTd el Thd § T Silcieh

3CTELUT 3118, HIfefcaeh shotadr=an gfadan
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55.

and writer for the rest of your life.
One needs no school, no study
room, no expenses and not many
tuitions and coachings of any sort.
If you are willing, you can
accomplish this undertaking with
ease whether you are poor, pressed
with business or other conveniences

and have many other sorts of

problems.

Why is the knowledge of grammar

essential ?

(A)

It is essential for an image in

the society

(B) It is necessary for judging the

mind of others

(C) It is essential for good speaking

and writing

(D) None of the above

55.
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T4 TA-HTATE, GEFAI-TIURT,

IS -SRI T ST 370 e
@ forfod B stoa. wetameTe faRan
M SheA g S 9.
I S0 foehTH UESiiel ST
qifecd A Selr=al ST A= |ad
foemra Aa st fasfaa swenffdmmr

Tl Td:oT faenfad =@ A foan

frsiter feder oFTel @FTd. Heard shetelr

Se= 3% ey sTHeaqes fa=a

WGl faeE §IREeTe ST,

SIEHATE IR0 g Wifgcar=a
HAWIEA Th HF e, T R0
TR0 el SMTeed T &Y
A

(A) qaid %
(B) IWY =&

(C) ot faem sReR

(D) §qul faum I
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56. How should grammar be learnt ? | 56. HHSIdIC Jedeh ekil STT=IHILRI T,
(A) It must be learnt as a whole :
(A) Siergeerdrer fefae
(B) Some of its parts may be
omitted like arithmetic (B) sfSfamorret o
(C) It is not essential, you can (C) W= ToRmeTd
ignore anything (D) alctie! THhel el
(D) None of the above 57. Wifscar=an A ek Sterrgydie
fSae He@ 3md, faae @
57. The study of grammar demands :
STVEIe W@ F9d
(A) constant body exertion
(A) WY =R
(B) only the leisure time
(B) gaid slisk
(C) physical hardshi .
P P (C) Hyui faum aeR
(D) heavy expenses for tuitions (D) Y fae =
58. A suitable title for the passage is : 58. Qifeed FETESTAR, TR, TEITaR
(A) The importance of Grammar in 4T 3, I8 A Hifgcaq ed HHl BId
Life RLEUNE
(B) The importance of Grammar in (A) Y I
Writing (B) U e
(C) The importance of Grammar (C) Hyui faum a{eR
(D) None of the above (D) @yl faem <
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59.

60.

Acquisition of the knowledge of

grammar :

(A) happens by subconscious

learning

(B) can only be done through

tuitions
(C) is an easy task
(D)

is not an easy task

The most important factor affecting

learning of grammar is :

(A) availability of time

(B) willingness to learn

(C) quality of coaching

(D) the monetary means

59.

60.
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Fell B STAREAAE ST, e

SO YMea A Sadr Ad

e

(A) Gqul faum sler

(B) @qul faum <&

(C) IWY ==

(D) Y =&

TR § heAufted T9ea, ™=

fafddt € Tdeaor B9 eTEd

(A) 9qul faum e

(B) @qul faum <&

(C) Tt SRR

(D) T0Y SR
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